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Discussion and Decision
1. Introduction
In this document, we would like to propose power loop handling mechanism at backoff.

2. Discussion
Currently, it is not clear how to handle power loop at the reception of backoff. It seems that the UE shall continue power ramping operation, e.g. the UE will use maximum power after backoff expires if the UE already reaches there when the reception of backoff. 

In general, there would be 3 possible options for power loop handling at backoff expiry: 

· OPT1: continue power ramping operation

· OPT2: use same power as that of the last transmission (power ramping would be applied for the next transmissions)

· OPT3: initialize power by OLPC (Open Loop Power Control)

In OPT1 and OPT2, they can decrease the delay until the successful transmission of the random access request. However, we believe it should be based on the assumption that the channel condition, i.e. long-term CPICH RSRP measurement result, should be similar to that of the previous one, which was measured before the reception of backoff. Otherwise, they can cause interference problem or more delay until the successful transmission of the random access request. 

Therefore, we should first consider the following aspects if RAN2 would like to go toward OPT1 or OPT2: 

· Maximum backoff length (RAN2), i.e. 960ms
· Channel condition inbetween before and after that maximum backoff (RAN1/RAN4) 

As a result, we can go toward OPT1 or OPT2 if channel condition is similar to that of the previous one, which was measured before the maximum backoff. 

In OPT3, although it might not be so optimized in the case if channel condition is similar to that of the previous one, which was measured before the maximum backoff. We believe it would be the simplest and it works well in all cases. Also, it is aligned with UMTS operation. 

Based on the above, we would like RAN2 to decide one of the following power loop handlings at backoff: 

· OPT1 or OPT2  (based on the confirmation that channel condition is similar to that of the previous one, which was measured before the maximum backoff)

· OPT3 (as the simplest solution)

From our point of view, we prefer OPT3 since it is the simplest and it works well in all cases. 

3. Conclusion
We would like RAN2 to decide one of the following power loop handlings at backoff: 

· OPT1 or OPT2  (based on the confirmation that channel condition is similar to that of the previous one, which was measured before the maximum backoff)

· OPT3 (as the simplest solution)

From our point of view, we prefer OPT3 since it is the simplest and it works well in all cases.

